
Q1. I enjoy trying to discover and write MATH 135 proofs.

A) Strongly disagree

B) Disagree

C) Neither agree nor disagree

D) Agree

E) Strongly agree

Q2.When I have difficulties with MATH 135 proofs, I know I can handle them.

A) Strongly disagree

B) Disagree

C) Neither agree nor disagree

D) Agree

E) Strongly agree

Q3. Consider the following statement.

{2k : k ∈ N} ⊇ {n ∈ Z : 8 | (n + 4)}

A well written and correct direct proof of this statement could begin with

A) We will show that the statement is true in both directions.

B) Assume that 8 | (n + 4) where n is an integer. (CORRECT)

C) Let m ∈ {n ∈ Z : 8 | (n + 4)}.

D) Let m ∈ {2k : k ∈ N}.

E) Assume that 8 | (2k + 4).














